

TOWN OF GROVELAND

2016 SPECIAL TOWN MEETING WARRANT

COMMONWEALTH OF MASSACHUSETTS

Essex, ss:

To Robert J. Kirmelewicz, Chief of Police of the Town of Groveland, in the County of Essex

GREETINGS:

In the name of the Commonwealth you are hereby required to notify and warn the inhabitants of said Town who are qualified to vote in the Special Town Meeting to meet at the **Dr. Elmer S. Bagnall School, 253 School Street on Monday, April 25, 2016** @ **7:00 P.M.** to vote on the following Articles:

ARTICLE 1: To see if the Town will vote to authorize the Board of Selectmen to sell by any lawful means, upon such terms and conditions and for such consideration as the Selectmen deem appropriate the following parcels of Town owned land:

Lot / Parcel ID	Lot Size	Location	FY2016 Assessed Value
02-012	.369 Ac.	Off Main Street	\$ 1,800.00
26-029-A	.476 Ac.	King Street	\$ 2,400.00
41-055	3.9 Ac.	894 Salem Stree	t \$211,400.00
48-009	5.0 Ac.	Salem Street	\$ 146,300.00
48-010	.964 Ac.	Uptack Street	\$ 6,600.00
48-014	.496 Ac.	Uptack Street	\$ 2,500.00
48-015	.165 Ac.	Salem Street	\$ 800.00
48-016	.331 Ac.	Salem Street	\$ 1,700.00

or take any other action relative thereto. Article submitted by the Board of Selectmen

BOARD OF SELECTMEN RECOMMEND FAVORABLE ACTION

FINANCE BOARD RECOMMENDS FAVORABLE/UNFAVORABLE ACTION

DATE AND ACTION TAKEN

<u>ARTICLE 2</u>: To see if the Town will vote to make the following transfers; or take any other action relative thereto:

\$1,400 from Conservation Commission Stipend line item #1001-171-51900-051 to Conservation Expense Line item #1001-171-52000-052 to cover costs related to Commission operating costs;

\$15,000 from Employee Group Health Insurance line item # 1001-193-54000-054 to Legal Expense line item #1001-151-52000-052 to cover initial funding shortfall;

\$6,200 from Police Fuel line item #1001-210-58000-058 to Police Training line item #1001-210-51400-051 to cover initial funding shortfall;

\$5,000 from Police Fuel line item #1001-210-58000-058 to Police Vehicle Maintenance line item #1001-210-53000-053 to cover initial funding shortfall;

\$1,500 from Selectmen Stipend line item # 1001-122-51900-051 to Selectmen Expense line item #1001-122-52000-052 to cover initial funding shortfall;

\$1,500 from Finance Education and Association Fees line item # 1001-133-52004-052 to Finance Office Expense line item #1001-133-52000-052 to cover initial funding shortfall;

\$8,600 from Property and Casualty Insurance line item # 1001-193-57400-057 to Essex County Retirement line item #1001-910-58000-058 to cover initial funding shortfall;

\$7,000 from Property and Casualty Insurance line item # 1001-193-57400-057 to Northeast Vocational Technical Assessment line item #1001-301-58830-058 to cover initial funding shortfall;

\$25,000 from Employee Group Health Insurance line item # 1001-193-54000-054 to Northeast Vocational Technical Assessment line item #1001-301-58830-058 to cover initial funding shortfall;

\$20,520 from Veterans Benefits line item # 1001-543-57701-057 to Northeast Vocational Technical Assessment line item #1001-301-58830-058 to cover initial funding shortfall;

\$1,000 from Cemetery Vehicle Fuel line item # 1001-491-52300-052 to Cemetery Part Time Wages line item #1001-491-51112-051 to cover initial funding shortfall;

\$1,000 from Unemployment Compensation line item #1001-910-58000-058 to Cemetery Part Time Wages line item #1001-491-51112-051 to cover initial funding shortfall;

\$4,000 from Library Director-Salary line item #1001-610-51100-051 to Medicare Tax line item #1001-491-51112-051 to cover initial funding shortfall;

\$4,000 from Fire Fuel line item #1001-220-55600-055 to Fire Equipment and Supplies line item #1001-220-55000-055 to cover initial funding shortfall;

\$5,000 from Fire Maintenance line item #1001-220-57002-057 to Fire Equipment and Supplies line item #1001-220-55000-055 to cover initial funding shortfall;

\$2,400 from Fire EMS Training line item #1001-220-54000-054 to Fire Equipment and Supplies line item #1001-220-55000-055 to cover initial funding shortfall;

\$1,000 from Fire Communications line item #1001-220-53000-053 to Fire Equipment and Supplies line item #1001-220-55000-055 to cover initial funding shortfall;

\$10,000 from Fire Drills line item #1001-220-51401-051 to Fire Mass Academy Training line item #1001-220-51114-051 to cover initial funding shortfall;

Article submitted by Various Departments by Request.

BOARD OF SELECTMEN RECOMMEND FAVORABLE ACTION

FINANCE BOARD RECOMMENDS FAVORABLE/UNFAVORABLE ACTION

DATE AND ACTION TAKEN:

And you are directed to serve this Warrant by posting attested copies thereof in said Town, one copy in each of the three parts of Town known as Savaryville, the Village, and South Groveland, fourteen (14) days at least before the time of holding said meeting.

Hereof fail not and make due return of this Warrant, with your doings thereon to the Precinct Clerk, at the time and place of said meeting.

Given under our hands this 4th day of April in the year of our Lord two thousand sixteen.

William F. Dunn, Chairman

Edward H. Watson, Vice-Chairman

D'Amore, Selectman Josept

Daniel J. MacDonald, Selectman

Michael N. Wood, Selectman

A true copy, attest:

Anne Brodie, Town Clerk

Robert J. Kirmelewicz, Police Chief

OFFICER'S RETURN

I have notified and warned the inhabitants of the Town of Groveland who are qualified to vote in Town Affairs by posting true and attested copies of this Warrant at the Town Hall, Savaryville and South Groveland. Said copies not having been posted less than fourteen days before the time of said meeting.

Anne Brodie, Town Clerk

Robert J/Kirmelewicz, Police Chief